Sections 4.7-4.8 — |.C.E.

For 1-9, evaluate without using a calculator. Give answer in both degrees and radians.

1. arcsin{é] 2. arccos[-lJ 3. arctan(())
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Sections 4.7-4.8 — |.C.E.

10. Use an inverse function to write 0 as a function of x.
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For 11-14, find the exact value of the expression without using a calculator. TN

11. cos[arctan[%n g;, ,liﬁf : 12, sec[sinvl(_in = L?;
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Sections 4.7-4.8 — 1.C.E.

For 15-18, write an algebralc expression that is equivalent to the given expressmn (no

calculator!!). SN e
15. sm(arctan( )) : M.._Zéw 16. sec(arctan(Sx)) \/ ?}‘J Q%" \
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Sections 4.7-4.8 - |.C.E.
For questions 20-27, you can use a calculator!!

20. An airplane flies at an altitude of 6 miles toward a point directly over an observer. Drawing is
not to scale

plane
a) Write 0 as a function of x.
6 \
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b) Find 8 when x = 9 miles.
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21. The height of a radio transmission tower is 70 meters, and it casts a shadow of length 30
meters. Find the angle of elevation the sun.
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22. Standish throws a baseball such that it landed at the edge of the roof of the school building.
When he is 25 feet from the base of the building, the angle of elevation to his baseball is 21°.
How high off the ground is Standish’s baseball?
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Sections 4.7-4.8 — |.C.E.

23. From the top of a 150 ft. building Samantha observes a car moving toward her. if the angle of
depression of the car changes from 18° to 42° during the observatlon how faréoes the car

travel? (j #W y 2:;., %L? @ 'i'ﬂ/n - %
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24. Zoeis flying an alrp]ane ﬂymg at 600 mph at a bearing of 52°. After flying for T-5 ours how far

north and how far east will the plane have traveled from its point of departure?
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25. From city A to city B, Ben flies an airplane 650 miles at a bearing of 48°. From city B to city C,
the plane flies 810 miles at a bearing of 138° degrees. Find the distance from city A to city C

and the bearing from city A to city C. c:é} &
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BE SURE you also do the extensive word problem review pggket given out in class.
AND redo problems from section 4.7 that we did in the notes and in homework questions.
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